9.2 Chord Properties Day 1 Homework Name: \W

v
Date: Period:

arning Targets - Chord Properties
e I can identify and apply the Perpendicular to a Chord Conjecture.
e I can identify and apply the Perpendicular Bisector of a Chord Conjecture.
e I can identify and apply the Chord Distance to Center Conjecture.

Find the missing information.
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Use circle P at the right to answer # 7 - 11

7. Name three chords
Lm NeE GH
J 7
8. Name eight right angles
ANCL, LNCM LICE £ pClL
£G3P £LPIH, L HIGLEJTG
9. GH= | M

10. PC = _5
- G
11. Find the length of PC N >
X%+ 25(p = 460 | |
—25) 25 ( e =1
]

12. A circle has a diameter of 13cm. In the circle, each of two chords is 8cm long. What is the shortest distance
from each chord to the center of the circle? Round to the nearest tenth.

4% x = .5




9.2 Chord Properties Day 2 Homework Name: ’\/W/{
J
Date: Period:

arning Targets - Chord Properties
e I can determine and apply the relationship between congruent chords and their central angles and intercepted arcs.
o I can identify and apply the Perpendicular to a Chord Conjecture.
o Ican identify and apply the Perpendicular Bisector of a Chord Conjecture.
o I can identify and apply the Chord Distance to Center Conjecture.

Use the figure at the right to find the missing information. Assume TS and QV and RU are diameters.

1. Name two central angles L QPR 1 LR P (S

D

2. Name two chords | O y NS

3. Name four right angles

ZRKA « L RKS: LSKP- LPKW,

7 7 /
4.2Qps = LTIV
5052 |V

7. If mQS = 105°, find the following:

- O
a) mTV = /06

,,,.‘>D
b) mfo=__ (5

c) mSVT = /800

8. |50+ AX + 3XTAX = 39(00

|50 + 71X = 360
~1%0 ~150

Tx= O
"’Z("" 1
X =30

180 -S54 -5y

| X




10.  What’s wrong with the pictures?

a.) b.)

“The cord thak is The d!m@{"cr lenghin is
Dﬁfwf\dlcu\m \b, q:»\faec%-eog 3(0 ¢m, /o the F(AOV‘C’

e;\(\oa!d cross” the arcle Shown ¢ awmjr be AF em
Use circle P at the rlght to answer # 11 - 16 Cﬂ (o f‘ﬂf‘()

crrudonts s Given
11. Find the length of the diameter of Circle P ]—: K = 'Z

adius =g 9= w2

25+ |44 =%
164 ={x*
3 =X -
a\&;\a L Z(Dl K H

e

12. Name six right angles

LLCP, LPCM; LPEG ; LGEH;

Ted

ZPLK ; L HEK K Shuolots

o
13. ML = ( ;[4 food
14. ML = G‘K

15. Find the length of EH

3 -597=3 |
16. Can you determine whether RK = GK? Explain.
No. we do 4o} have any wndicston o Hoe \ergtl,
of \Z\(' nor_ (e distonce fram C&\Jrev noc_the ares
/€/< av'm C':'ﬁ




